Discovery 2 Module 3 Exam Picture Descriptions
Refer to the exhibit. Which type of twisted pair cable..

The topology of the network is not important.

Cable A connects a computer to a route

Cable B connects a router to a switch

Cable C connects a switch to a server

Cable D connects a switch to another switch

Cable E connects a switch to a Hub

Refer to the exhibit. To allow IP communication between
Diagram depicts 2 networks each consisting of a switch and several workstations. IP addresses are:

Network 1 = 192.168.1.0/24

Network 2 = 1292.168.2.0/24

What device is needed to connect the 2 networks?
